ERS0OFE—RIFTHETFE (515) OBE

— k=TSN FRER 20,464,000+H
FEIREE 20,464,000+H
HIEFRER A146,484+FH
MIERFHER 20,317,516+H

XUHHPELL O.7%%E
XTBUSEEHALE 3.8%18
7|§I0)%$E7”"lat WFTEEEFRFTETHREALUTCRODFEULZOT, BRREET IR

SEUNBRINROMIEBEOCHDMHSERICEEUCESEFEDRELLZDF UL,
ﬁE?“%U146484?%®Wﬁ WIERODFEEN20,317,51 6FHER
D, BFEICXTLO. 7 %DEBEC 8> TVNET,
ENRONERICDNTIIRDER DT,

) (&7 FD
— BARANER
_ 88 - = Z Dtk N
—Ag==t BEXZHE EEE o B Y — A% EAR
A 146, 484 A 51,651 A& 110, 800 3b, 280 A 19, 313

ERS0FE6RMIEICRITDIEREE X () AEIFEEOR-Y

. RERDESHZBEMNRERE (BEELSFTERESE 20R-Y)
. MO DHESE (21 X=-)

. NEHBEEH RS ERDE (BESHESE 21X-I)

. WEAHZEEM EHES @HIEREE 22/X-Y)

S (FERBE 181R-Y)

W

. FERBARIESIM

. FEEESREREE (SHEWRZEE 22X-Y)

G



OFRI=E

ERERREESEEIISIHEETFE (525)

_ (Ef7 © FF)
) TEAR
-‘_l-a %E AN = n N
MIERER | BEE \mewwe| mE |, 0. | kS
6,194 597 97 48 0 0 49
NMERERSERBISEH (MERESXEE) BEFE (F515)
(s FE)
: EAR
EIES 28 A = A=
MIERER | BEE \movwe| miE | oas | MR
4035175 639 100 0 0 539




